&N 1) JEEAT AN

5 et =
Group
B HAE FEHUE SEUE
S= 1 (HED) 1000 BE.7 BE.7 6.7
2(EdE) 500 333 333 100.0
= 1500 100.0 100.0
Sex
B HHE SSHUHE SHQHHE
S5 0(HTH 586 301 39,1 39.1
1 (&7 914 g0.9 0.9 100.0
| 1500 100.0 100.0
Baseline_state
HIE HHE FSHUE SEHIHUE
25 (L 395 26.3 26.5 26.5
2 (32 434 28.9 29.1 55.6
3(=S G662 44.1 44 4 100.0
#i 1491 9g.4 100.0
=5 A AE 9 &
pals | 1500 100.0
Recovery_01
HE HHE FEHEE SEHMHUE
S8 D(ESHA S 1026 8.4 68.7 68.7
TEaEEER =) 468 312 1.3 100.0
=i 1494 99,6 100.0
== pom 6 4 '
bl | 1500 100.0
NEZHH
M g O ma e el EEMI
HE2IHSE)
Age 1500 ] az 70.74 146 5654
BMI 1408 20.3 62.0 34,355 1422 55043
SBP 1406 ag 225 137.09 A1 19,765
DEF 1405 50 125 84 60 273 10565
preQoL 1500 250 93.9 70178 2548 98722
post@oL 1500 220 96.0 G756 2743 10.6225



(M 2) 710|H& ZH (chi-square test)

Group * Recovery_12 0 X1 E

Recovery_12

1 (B8 EHZ) 2 (B8 KX HS) o
Group 1 (HEZ) HIZ 337 GE1 4493
Group = % 33.8% G6.2% 100.0%
2(843) HE 131 365 4496
Group = % 26.4% T3.6% 100.0%
I BT 468 1026 14494
Group 2 % 31.3% 63.7% 100.0%
FIolHl= & =
A FYE=E B FRUYBES IERILES
zk IRE (Z=2E) (Zs2E) (B=zE)
Pearson 30| A1 2 8.335° 1 004
Pl 8P 7.996 1 005
S H| 8.475 1 004
Fisher2| & 3= 004 0oz
O dEIE 8.329 1 004
FE A0 5 1494

2. 0 00%S(=) 20 F2 0 BESE b= QLG =2 J B E= 155 420 T

b 2x2 H O CHal A BE Y &S

FEE Fdat
5% & T
s ShEt st
Group (1 (HEI) 2 (E 230 e 2 21| 1.421 1.119 1.804
TSE Recovery_12=1 (2 SEFS)FF 1.278 1.078 1.516
IS E Recovery 12=2 [E|1BHA @SB FF .00 840 064
2304 + 1494 |




=M 3) £ & 7t 7 H|W (two-sample t-test)
Ho S HH
Group I B EFgmiy HEZI}ED
SBP 1 (HBE) 1000 136.02 19,841 627
2(@aE 496 139.24 19.453 873
seipe 2T
Levenel| 24 ZJF BDoSSRAWOETEE
7012 95% AP
i RAME t TRE RYUSE(2I)  WIN0 EELH M0 o At
SBP SE4s= }EE 342 559 -2.4972 1494 003 -3.218 1083 | -5342 | .-1.084
S=MS IO S -2.992  1005.048 003 -3.218 1075  -5328 -1.107




(BM 4) M 3|HEM (linear regression analysis)

MeEsH
UHYHE H
o SEE Mg HME H= 2
1 pre@oL, B, oili=A
Age, Sex®
a S H = postQOL
h 2838 R Mt LHEUSLICH
23 o
FEGL HE=E
o R R A= +HE R AS 23
1 9148 B35 834 43189
a. WS (=), preQoL, BMI, Age, Sex
H42
H=3
HE=S A= A= 95.0% & P2k
HEZ
o Al = it (SE) il EF 1 P-value EEl HE
1 (=) -180 1.970 -.097 823 -4.05 3674
Sex (0=0F, 1=TH -1.520 2498 -070 -5.095 .ooa =211 -.835
Age (B9 year) 048 020 026 2.408 .016 .ons 087
BMI (HI= BT =) -.030 026 -015  -1.158 247 -.080 021
preQ oL (A& AIE a2 T 62 012 804 80.43 .ooa 838 .8B4a

a S postQOL (Z= AE o2 &)



(BM 5) 2X|AE ZHEM (logistic regression analysis)

E2£ 4 (Recovery 01)

ol gl
R LH & g
0(E29HT %) i
1 (21553 1
HFH vis g
D 3H
B (1) (2)
Baseline_state 1 (LF&) 3485 1.000 .0oo
2 (&) 434 000 1.000
I(ES) 662 000 0o
Sex 0 (7 A80 000
1 (&7 g1 1.000
Group 1 (#HEZ) 986 1.000
2 (BT 485 .ong
23 gt
CoxZh Snell2f Magelkerke
gy  -2EORE R-H-= R-H-=
1 1823.927° 014 026

a B ZEC0 020 FH HIEH Haes

T A0 =2

= EEWH=UL

WEA Hp
EXP(B)M CHEt
95% &= 2
B S:E: Wald THEE P-value Exp(B) ot g HE
1 B3®  Group(1) A4 134 16.334 1 .00o 1.718 1.3 2,233
Sex(1) -.406 126 10.544 1 .om GE66 AN 251
Age -.005 010 232 1 B30 845 478 1.015
Baseline_state 7.404 2 02Ah
Baseline_state(1) 373 37 7.372 1 007 1.452 1.109 1.902
Baseline_stata(2) A75 136 1.659 1 a8 1.1482 13 1.567
S =¥ 724 1.010 1 3145 483

a. =01 Group, Sex, Age, Baseline_state B0 2 ESHSLICH



